Quantitation Report (LSC Reviewed)

Data Path : Z:\HPCHEM1\BNA G\DATA\BG101215\
Data File : BG019160.D

Aca On : 12 Oct 2015 13:40

Operator : UM/NP

Sample : 63989-03

Misc :

ALS Vial : 51 Sample Multiplier: 1

Quant Time: Oct 13 01:29:54 2015

Quant Method : Z:\HPCHEM1\BNA G\METHODS\8270-BG101015.M
Quant Title : ASP BNA STANDARDS FOR 5 POINT CALIBRATION
OLast Update : Sat Oct 10 07:04:31 2015

Response via : Initial Calibration

Internal Standards R.T. Qlon Response Conc Units Dev(Min)
1) 1.4-Dichlorobenzene-d4 8.03 152 19000 20.00 nag 0.00
21) Naphthalene-d8 10.84 136 85758 20.00 ng 0.00
38) Acenaphthene-d10 14.66 164 62577 20.00 ng 0.00
63) Phenanthrene-d10 17.41 188 139184 20.00 nqg 0.00
75) Chrysene-di12 21.68 240 166994 20.00 ng 0.00
86) Perylene-di12 24.91 264 170187 20.00 ng 0.00
Svstem Monitorina Compounds
5) 2-Fluorophenol 5.61 112 62197 66.65 na 0.00
7) Phenol-d6 7.20 99 60405 42 .14 na 0.00
23) Nitrobenzene-d5 9.19 82 160756 103.57 na 0.00
41) 2.4.6-Tribromophenol 16.15 330 126515 148.36 na 0.00
44) 2-Fluorobiphenvl 13.29 172 389213 95.64 na 0.00
78) Terphenyl-dl4 20.02 244 600055 94.92 ng 0.00
Target Compounds Qvalue
51) Acenaphthene 14.72 154 16176 4.36 ng 98
54) Dibenzofuran 15.06 168 20247 3.70 nag # 70
57) Fluorene 15.71 166 42714 8.99 ng 99
59) Diethylphthalate 15.48 149 39060 7.61 ng 95
83) Bis(2-ethvlhexyl)phthalate 21.57 149 12456 2.35 ng 91

(#) = qualifier out of range (m) = manual integration (+) = signals summed
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Abundance TIC: BG019160.D
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